Multiplication par 8 (C)

Calculez chaque produit.

X0 = & X & = 6 X & =
§x 1= 8 X 9= 4x8=
0x 8= X T = 0x 8=
& X 8= X O = X 6=
8 X 8= 2X 8= 88X 2=
4 x 8= X 7= 8x 1=
4 x8= X 9= 2X 8=
8 X & = 2 X 8= X T =
8 X & = Ex 1= 8 x 3 =
X 6= & xX 9= & x (0=
DX 8= 3 X 8= 3 X 8=
6 X & = & X H= & X 9=

MathsLibres.com




Multiplication par 8 Solutions (C)

Ex0=0

8x1=218

O0x&=0

8 X 8 =04

& X 8 =064

4x8=32

4 x8=232

8 X 8=04

8 X 8=04

8 X 6 =48

5 X & =40

6 x 8 =148

Calculez chaque produit.

8 X 8 =04

8xX9 =72

8 X 7 =256

8 x H =40

2x8=16

8 X 7 =056

X 9=72

2X8=106

X 1=38

88X 9 =72

3 X &8=24

8 X H =140

6 X 8 =48

4x8=232

0x8&8=0

8 X 6 =48

8x2=16

8x1=28

2x8=106

8 X 7 =56

Ex 3 =24

8x0=0

3 X &=24

88X 9=72
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